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(2) VeerTd ql%

(3) A T T

(4) WA Sl

fiegeoT T e afed 8 ?
(1) 2578, 1925
(2) 1418, 1925
(3) 131, 1947
(4) 28 W, 1947
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(1) 1. SETEelTel J&&

(2) TRER TEAHNTE I

(3) IR FHTEd

(4) %.wA. g

6w g i gome e i @ e
giAfRae ?

(1) S[re

(2) TR feRe

(3) TRITG (3F)

(4) WG

e I T Feft F TR
TOAT F TR B Y ?
(1) ferso wra@ve
) e s
(3) TEHTEH
(4) w

Under Whom leadership
Morcha’ was formed in Jaipur ?

(1) Baba Harishchandra
(2) Bhanwar Lal Sarrof
(3) Fateh Karan Charan
(4) Maganlal Bilu

‘Azad

When did Nimuchana incident occur ?
(1) 25" May 1925

(2) 14" May 1925

(3) 13™ March 1947

(4) 28" March 1947

In first phase of integration of
Rajasthan, ‘Matsya-sangh’ was
formed. Who is credited for the name
‘Matsya-sangh’ ?

(1) Pt.Jawaharlal Nehru

(2) Sardar Vallabh bhai Patel

(3) Shobharam Kumavat

(4) K.M.Munshi

In which of the following forts, the
dargah of Sufi saint Hamiduddin is
located ?

(1) Junagarh

(2) Gagron fort

(3) Taragarh (Ajmer)
(4) Mehrangarh

Who was the founder of the Jaipur
Gharana of Khyal style of Hindustani
Vocal ?

(1) Vishnu Bhatkhande
(2) Jiauddin Dagar
(3) Bahram Khan

(4) Manrang
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10.

instrument is used -.
of phad of Dev

Which musical
during recital
Narayanji ?
(1) Manjira
(2) Mandal
(3) Jantar
(4) Kundi

Where is Muchhal Mahaveer temple _
located ?

(1) Nadol
(2) Ghanerao
(3) Badnore
(4) Menal

Jhala Haveli, famous for its murals is .
located in

(I) Kota
(2) Jhalawar
(3) Bundi
(4) Mandawa

“Dhani Ka Aadmi”, a
compilation, is a composition of
(1) Nand Chaturvedi

(2) Taraprakash Joshi

(3) Jaisingh Neeraj

(4) Nand Bhardwaj

poetry -

‘Walar dance’ is associated with which
of the following tribes ?

(1) Bhil
(2) Rebari
(3) Garasia
(4) Sahariya
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(1) g

(2)

(3) I

(4) STATS

Iaet Soft o gfaroft s Y e =i
2

(1) ==mg
(2) *TB
(3) s/
(4) GG

frafeRaa srmaeh vda Rraw € 1 =
forgdl B S F @R Hed wu i
aferq Hifa

(A) T faret

(B) Hi=ermg

(C) feeramer

(D)

- (E) 3™ETe

L T

(1) (A), (B), (©), (D), (E)
(2) (A), (D), (C), (B), (E)
(3) (A), (D), (C), (E), (B)
4) (A), (C), (B), (E), (D)

frafafiga & @ +19 91 T 43R A8
I Y AMEATR ?

(1) YIS 931

(2) TSI UBR

(3) 3f@rUaR

(4) IWHAA
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Which one of these is not a disciple of
Dadu ?

(1) Sundar Das -
(2) Rajjab

(3) Dayabai

(4) Jangopal

The peak in the southern section of
aravalli is

(1) Babai

(2) Bairath

(3) Dora

(4) Raghunathgarh

The followings are the mountain peaks
of Aravalli. Arrange these peaks in
descending order according to heights :

(A) Gurushikhar

(B) Anchalgarh

(C) Delwara

(D) Ser

(E) Kumbhalgarh
Codes :

(1) (A), (B), (C), (D), (E)
(2) (A), (D), (C), (B), (E)
(3) (A), (D), (C), (E), (B)
(4) (A), (C), (B), (E), (D)

Which one of the following plateau is
adjacent to Mt. Abu ?

(1) Bhorat Plateau
(2) Hadoti Plateau
(3) Oria Plateau
(4) Uparmal
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ST ST 8 7

(1) 33 A 3

(2) Hremd 3w

(3) e g

(4) SEEwE 3

AT 39 Fatferes g S 8
(1) S

(2) s

(3) ®ETH

(4) R H

HIU % Aw ThR hl Forarg Frer fer
2

(1) srgaTeT

(2) da

(3) MW
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(1) efiga =

(2) a0 gl e
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oFg T T ITH TR RIS G B ?
(1) @t

(2) HHA

(3) AR

(4) @
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Which of the following lake is also -
known as ‘Dhebar Lake’ ?

(1) Anup sagar lake
(2) Kolayat lake
(3) Kailana lake

(4) Jaisamand lake

‘Gully Erosion’ is mostly found in
(1) Jodhpur

(2) Bikaner

(3) Kota

(4) Sirohi

The district has Koppen’s Aw type of - .
climate is

(1) Banswara

(2) Sikar

(3) Barmer

(4) Nagaur

In summer season low air pressure
area of Rajasthan is found in

(1) Eastern region

(2) North Eastern region
(3) Southern region

(4) North Western region

Which river originates from Sewar
hills ?

(1) Sabi

(2) Kakani

(3) Morel

(4) Som
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31=1: yaTa! A 2
(1) afyadt s=m
(3) hraet!

(2) T
(4) @i

T H i fowga 9@ wgun e
areft 7 2
(1) wh
(3) wE

(2) @TEHdr
(4) &9

HYE I B
(1) TEET — AT
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(3) TE AR — TSR
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(1) et — fere

(2) Y -~ SraareT

(3) 3T — AR

(4) SeTg — <Rt

T % B @ 8§ Tt wg
el /fafeat ot st 2 2

(1) feoft gaff &

(2) gferoft s

(3) afgast qm

(4) el s

T T TG el 1 wel I 8
(1) 3T — WA

(2) TS — TG

(3) Rd - iR

(4) ITSHT — AR
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The river of inland drainage is
(1) Western Banas (2) Gambhiri
(3) Kantli (4) Khari

The river having the largest catchment

area in Rajasthan is
(1) Luni
(3) Mahi

(2) Sabarmati
(4) Banas

Incorrect match is
(1) Gadisar
(2) Mandal Tal — Bhilwara
(3) Foy Sagar
(4) Talabshahi

— Jaisalmer

— Ajmer

— Baran

Mixed red and black soils are found in
which districts ?

(1) Pali - Sirohi

(2) Dungarpur - Banswara

(3) Ajmer - Nagaur

(4) Dholpur - Karauli

Which region of Rajasthan has antisol
group of soils ?

(1) South east region

(2) Southern part

(3) Western part

(4) Eastern part

The correct pair of major mustard
producing districts is

(1) Alwar
(2) Jhalawar — Pratapgarh
(3) Sirohi
(4) Ajmer

— Bharatpur

— Jalor
— Nagaur
00



26.

27.

28.

29.

30.

TSR 1 TE Hen! I9TEH 87 2
(1) 3wl wm (2) gieoft wm
(3) weff wm (4) fyas ym

W SIS IedTees el o1 9dl 3w 8
(1) ST — SR

(2) MR -

(3) T AT — TR

(4) SR — FHeTa

= 5 & 3 w1 o 3w v At
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(1) Tegeam e fafies — 2o

(2) TTYH SR T SR
fafies — sy

(3) Wl ehersd U Hiee fafie

(1) & aeEor
(2) afermo frim

(3) SE 9 s
4) Fosf
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Major maize producing region of
Rajasthan is

(1) Northern part (2) Southern part
(3) Eastern part (4) Western part

Correct pair of major bajra producing
districts is

(1) Barmer — Jalor
(2) Nagaur — Bundi
(3) Sawai Madhopur - Ganganagar

(4) Jalor — Alwar .-

Which one of the following is not
correctly matched ?

(1) Hindustan Zinc Limited — Dewari
(2) And
Instrumentation Limited — Jaipur

Modi Alkaline And Chemical
Limited — Bharatpur

Rajasthan  Electronics

3)

Oriental Power Cables Limited —
Kota

4)

Which industry was first established in
Rajasthan ?

(1) Cement
(2) Sugar
(3) Cotton textile
(4) Glass industry

Which one of the followings is useful
to control the desertification ?

(1) Soil conservation

(2)‘ Control on overgrazing
(3) Control on deforestation
(4) All of these
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TR e § iisaeRte h1 Uiy o
T & 3TeRfeTes firrae Bt 2, frees
HR B ;

(1) agavea § 3= Yhdl, =0
A, Wieh g g aeata
Hul

(2) 3= IYASHAIT ¢, T FZHI H
Sufeufd wa 3d o et o1 91 S

(3) et 1 3ufefa, foet srfeama wa@
ot g & ifa

(4) T anfes sngar, fo § aifus
AT & ot a1 i 7Tfd

TR % freifed o 9 forg T A
TRIYTE Ue § o feam ar ?

(1) e == 3=

(2) e AT G

(3) e g

(4) e fiig

T % Friferd gembe 3§ @ %4,
ferermrae 1 vew el un/dt v

(1) Jrepr™ Treftare (1952)

(2) STy gETheAt (1980)

(3) S T (2003)

(4) sEhdeds @H (1971)
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The temperature of the nights in
summer suddenly falls in Rajasthan

desert because of

(1) high aridity in atmosphere, clear
sky, sandy soil and shortage of
vegetation.

high

presence of naked rocks and sand

(2) atmospheric  pressure,

dunes.

presence of lakes, dispersed

settlements and high wind speed.
high

temperature during the day and

low relative humidity,

high speed of wind.

Who among the following governor of
Rajasthan resigned from his office as
governor ?

(1) Nirmal chand Jain

(2) Madanlal Khurana

(3) Anshuman singh

(4) Darbara singh

Who among the following Chief

Ministers of Rajasthan was not a
member of the Rajasthan Legislative
Assembly when appointed as the Chief
Minister ?

(1) Tikaram Paliwal (1952)

(2) Jagannath Pahadia (1980)

(3) Vasundhara Raje (2003)

(4) Barkatullah Khan (1971)

00
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o faam @ Y e wfufy &
gee! & faumeayTes g aaa e
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(1) wTEeH gfufd ‘%’
(2) TSR 3ush G
(3) wr geTEHR witfa
(4) FerET afyfy

frifera o @ = T 39 =mTEE
% g Al T @ E 7

(1) J.wq. o

(2) 3RO HAR

(3) .TH. 9T

(4) ﬁﬁagrrr(ﬁma

Ty faumas g 1967 # waw
a7t ! e T W forr wH s ¢
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(2) 50
(3) 48
4) 47
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Which committee members of the
Rajasthan Legislative Assembly are

nominated by the speaker of

Legislative Assembly ?

(1) Committee on estimates ‘A’

(2) Committee on public undertaking
(3) Business advisory committee

(4) Committee on public accounts

Who among the following has not
been the Chief Justice of Rajasthan
High Court ?

(1) J.S. Verma

(2) Arun Kumar

(3) J.M. Panchal

(4) Virendra Kumar Singhal

In Rajasthan Assembly Election 1967,
the number of seats won by Swatantra

party :
(1) s2
(2) 50
(3) 48
(4) 47
Who among the following officers,

works as a Secretary of the Council of
Ministers in Rajasthan ?

(1) Principal Secretary, Home
Department

(2) Chief Secretary

(3) Principal  Secretary, General

Administration Department

Additional Chief Secretary, Home
Department

(C))
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- Which of the following duties are

performed by District Collector ?

(A) Proper Management of
Government Lands

(B) Recovery of land revenue

(C) Preparation of land records

Correct answer is :

(1) (A), (B)and(C)

(2) only (A) and (B)

(3) only (A)and (C)

(4) only (B) and (C)

To whom the member of the
Panchayat Samiti in Rajasthan tender
his/her resignation ?

(1) Pradhan, Panchayat Samiti
(2) Pramukh, Zila Parishad

(3) District Collector

(4) Block Development Officer

In Rajasthan the quoram to constitute a
meeting for the consideration of a no
confidence  motion  against the
Pradhan, Panchayat Samiti shall be

of the total number of
persons entitle to vote thereat.

(1) one fourth (1/4)
(2) one tenth (1/10)
(3) one third (1/3)
(4) two third (2/3)

To whom, the election of any person
as a member of municipality can be
questioned by an election petition ?

(1) District Judge

(2) District Election Officer

(3) Chief Election Officer

(4) Returning Officer

00
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o™ H AmTersht s fam afafy
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(1) 6

(2) 8

3) 10

@) 12
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(1) 31=3¢ 165

(2) 3ITTB¢E 166

(3) 31T=DT 167

(4) 31T 168
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The maximum number of members .

can be in the finance committee of the
municipality in Rajasthan

(1) 6

2) 8

3) 10

4) 12

Who among the following works as
Chairperson of the ‘District Planning
Committee’ ?

(1) Pramukh of the Zila Parishad
(2)
(3)

District Collector
Chief Executive Officer of the
Zila Parishad

(4) Chairperson of Nagar Parishad

Who is the Author of the book
‘Rajasthan ki Rajniti : Samantwad se
Jatiwad ke Bhanwar Mein’ ?

(1) Vijay Bhandari

(2) Vijay Kothari

(3) Jagdish Chandra

(4) Milap Kothari

Which of the following article of the
Constitution of India is regarding the
duties of the Chief Minister as respect
the furnishing of information to
Governor ?

(1) Article 165

(2) Article 166

(3) Article 167

(4) Article 168
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IREl g=adta JioMT (2012-2017) %
T8d ‘I 9 He WNae’ § g TR
1 ferem wfewra et 2 2

(1) 100

(2) 75

(3) 50

(4) 25

freifra & @ ®F @ fog ‘oiw o
HTHA 2006 1 gitifad T & 7

(1) st 3ge

(2) Teft & ford wmeen

(3) wrer gran

(4) W&l ge

TifRa # & fopqa =mam gewt & uy
T BN W E T fauas ¥ g
uitye H HAfevare s W) ==t 8 aedl
27

(1) 20

(2) 30

(3) 40

(4) 50

frifera # @ e i wrima 6t T
Wi e afafa 6 e 9y ° feat
ok A i S =R ¢

(1) @

(2) dH

(3) =R

(4) °=
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What is the percentage share of the
Central Government in the ‘Sambhar
wet land project’ under the Twelfth
Five Year Plan (2012-2017) ?

(1) 100
2) 75
(3) 50
4) 25

Which one of the following points is
not a part of
Programme 2006 ?

‘Twenty Point

(1) Poverty Eradication
(2) Health for all

(3) Food Security

(4) Urban Roads

A motion of no-confidence in council
of ministers can be discussed in the
Rajasthan Legislative Assembly only
if how many of the following members
are in favour ?

(1) 20
(2) 30
(3) 40
(4) 50

How many meetings of the State level
monitoring committee of twenty point

programme should be held in a year ?
(1) two

(2) three

(3) four

(4) five

00
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For obtaining information with regard
to a matter of public importance, a
member of Rajasthan Assembly may
give notice of how many unstarred
question a week during an intersession
period ?
(1) one
(3) five

(2) three

(4) seven

What is the total sanctioned strength of
judges in the Rajasthan High Court at

present (July, 2020) ?
(1) 40 (2) 45
3) 50 (4) 55

Which of the following district is not
under the jurisdiction of Jaipur bench
of the Rajasthan High Court ?

(1) Bundi

(2) Tonk

(3) Jhalawar

(4) Chittorgarh

In  which of the following
district/districts of Rajasthan all seats
of chairperson of Panchayati Raj
institutions at all levels are be reserved
for the person belonging to the
schedule tribes ?

(A) Banswara

(B) Dungarpur

(C) Pratapgarh

(D) Sirohi

Choose a correct option :
(1) only (A), (B) and (C)
(2) only (A), (B) and (D)
(3) only (B), (C) and (D)
(4) (A),(B), (C)and (D)
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(1) w3ETe=

(2) g3
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T

Which of the following matter is not
listed in eleventh schedule of the
Constitution of India ?

(1) Animal husbandry

(2) Small scale industries

(3) Cattle-pound

(4) Market and fairs

Which of the following article is
related to the twelfth schedule of the
Constitution of India ?

(1) Article 243 W
(2) Article 243 X
(3) Article243Y
(4) Article 243 Z

Which of the following ‘Jan Sunwai’
was the first ‘Jan Sunwai’ for people’s
Right to Information movement in
Rajasthan ?

(1) Kot Kirana
(2) Bhim

(3) Vijaypura
(4) Beawar

Public debt in India is presently
managed by

(I) Reserve Bank of India (RBI)

(2) Securities and Exchange Board of
India (SEBI)

(3) Unified Financial Agency (UFA)
(4) NITI Aayog
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Which district of Rajasthan related to
Jalipa-Kapurdi thermal power project ?

(1) Barmer
(2) Ajmer
(3) Kota

(4) Jaisalmer

What is the total livestock population
of the Rajasthan State according to the
livestock census 2019 ?

(1) 337.35 lakh
(2) 567.76 lakh
(3) 425.52 lakh
(4) 626.71 lakh

According to the advance estimates,
what is the per capita income of
Rajasthan for the year 2019-2020 (at
current prices) ?

(1) T1,18,159
(2) T78,570
(3) ¥ 81,355
(4) T1,10,606

Which of the following project of
Rajasthan is not related to External
Aided Development Projects ?

(1) Agro Food Park (AFP)

(2) Rajasthan Urban-Sector
Development Investment
Programme (RUSDIP)

(3) Rajasthan  Rural  Livelihood
Project (RRLP)

(4) Rajasthan Agricultural
Competitiveness Project (RACP)
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Which of the following solar park
developed by Rajasthan Solar Park
Development Company Limited ?

(1) Bhadla Phase — II (680 MW)

(2) Bhadla Phase — I1I (1000 MW)
(3) Bhadla Phase — IV (500 MW)

(4) Phalodi-Pokaran (750 MW)

Which of the following is correct ?

and
not
economic

(1) Changes in
institutional
essential
development.

technological
structure  is
for
(2) Sustained increase in product per
capita is measure of economic
growth.

Economic growth involves both
quantitative  and  qualitative
changes in economy.

3)

4)

Economic development can be
achieved  without  economic
growth.

The weak sustainability approach of
sustainable development

(1) Accepts substitution between
man-made capital and natural
capital

(2) Does not accept substitution

between man-made capital and

natural capital.

(3) Does not accept an action which

depletes natural capital but

enhances man-made capital.

(4) Assumes that if a consumption

path is strongly sustainable, then

it would not be weakly

sustainable.
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1019t wfaum dwmem srfufrem, 2016
EEIEGE

(1) FRBM 3tfufram &

(2) GST (%] W& a1 ) |

(3) et HriGH |

(4) IR GIR A

Ieeh AgEH (FfsEt) € St
(1) % HHR gR

(2) TST TR G

(3) 5 3R TT TSR GHI & g
(4) RBI (m«ﬂéxmaa;)a:m

RBI # et ek Y aifrepan Ten &
T 8

(1) 4

(2) 6

(3) 10

(4) s €T

S ¥ el gder 3 “Faq faewms 3k
FeraTy Uitada’ TR T S el
27

(1) 3T TE&TT 2006-07

(2) aTifdies TaefoT 2007-08-

(3) affes Fder 2009-10

(4) 3TTIeh TEETT 2011-12
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101" Constitution Amendment Act, ,
2016 is related to

(1) FRBM Act
(2) GST (Goods and Services Tax)
(3) Kelkar Task Force

(4) Income-tax reforms

Fertilizer subsidy is provided by
(1) Central government
(2) State government

Central and State

(3) Both

government

(4) RBI (Reserve Bank of India)

The

Governor in RBI can be

maximum number of Deputy

(1) 4
(2) 6
3) 10
(4) No limit

Which Economic Survey introduced a

new chapter on  ‘Sustainable

Development and Climate Change’ ?
(1) Economic Survey 2006-07
(2) Economic Survey 2007-08
(3) Economic Survey 2009-10

(4) Economic Survey 2011-12
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(1) 30.19%

(2) 44.99%
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(4) 32.44%
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Which of the following is correct
about the ‘Hindu Growth Rate’ ?

(1) This is about growth rate of
Hindu population.

Shows  economic

2) disparities
among different social groups in

India.

(3) Reflect low growth performance
of the Indian economy during

1950-80.

(4) This is about agricultural growth

rate in more-population region.

In Rajasthan, the funding pattern of
Pradhan Mantri Krishi Sinchai Yojana

- (PMKSY) between centre and state

18

(1) 60:40
(2) 75:25
(3) 50:50
(4) 70:30

In 2018-19 Agricultural Sector’s share
in Gross State Value Added (GSVA)

(at current prices) of Rajasthan was
(1) 30.19%
(2) 44.99%
(3) 24.82%
(4) 32.44%
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Rajasthan Agricultural

Competitiveness Project is funded by

(1)

International Fund for Agriculture

Development (IFAD)

(2) World Bank

3)

Japan International Corporation

Agency (JICA)

(4) Asian Development Bank (ADB)

With a view to decide on the policy

issues pertaining to infrastructural
project on PPP mode, which council
has been setup in Rajasthan under

chairmanship of Chief Minister ?

(1) Council for Infrastructure
Development (CID)

(2) Empowered  Committee  for
Infrastructure Development
(ECID)

(3) Rajasthan State Infrastructural
Council

(4) Council for Infrastructure in
Private and Public Sector

The highest outlay in modified

schematic budget outlay for the year
2019-20 is which sector ?

(1) Power
(2) Rural Development
(3) Social and Community Services

(4) Economic Services
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Under which scheme, widows,
divorced and abandoned women are
being provided pension in Rajasthan ?

(1) Sahyog and Uphar Yojana

(2) Indira Gandhi Mahila Vikas
Yojana

(3) Mukhya Mantri Vishesh
Yogyajan ~ Samman  Pension
Yojana

(4) Mukhya Mantri Ekal Nari

Samman Pension Yojana

Mukhya Mantri Yuva Kaushal Yojana
in Rajasthan was launched on

(1) November 2019

(2) December 2019

(3) November 2018

(4) December 2018

Black Revolution is related to
(1) Milk products

(2) Petroleum and Crude oil
(3) Foreign Direct Investment

(4) National Solar Mission

Which of the following is not correct
about ‘Samagra Shiksha’ ?

(I) It is Govt. of India’s Flagship

Programme.

(2) Its objective is universalization of
elementary and secondary
education in a time bound
manner.

3) It aims to promote

professionalism of education.

4)

Its fund sharing between centre
and state is 25 : 75.

00
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Which is not true about ‘Beti Bachao,

Beti Padhao’ scheme ?

(1) This scheme was launched as one
of the flagship programme.

(2) It aims to address the declining

child sex-ratio.

It aims to ensure education and
participation of girl child.

3)
(4) Rajasthan state’s performance in
this programme has been very
poor in 2019.

Which score implies that the State/UTs
have achieved the targets set for 2030
in Sustainable Development in India ?

(1) 70
(2) 50
3) 95
(4) 100
‘International ~ Stone  Technology
Conference’ was organised by centre
for development of stones in
collaboration with  Global Stone

Technology Forum during 19-20

December 2019 at
(1) Jaipur

(2) Udaipur

(3) Jodhpur

(4) Kota

A study based on

enumeration is known as

complete

(1) Sample surveys
(2) Pilot Survey
(3) Census

(4) None of these
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If x is a random Poisson variate such
that P(x = 1) = P(x = 2), then find
P(x=0)=

(1 2

2) e?

) 3
2

“4) e’

Mail questionnaire method is suitabie
only if respondents

(1
(2)
3)
4

lives in cities
have high income
are educated

are known

A graph of successive points of
distribution joined by straight lines in

statistics is known as

(1) frequency distribution
(2) frequency polygon
(3) trend

(4) None of these

A student goes from his home to
college in the morning with a speed of
15 km/h and returns from college to
his home in the evening at a speed of
10 km/h. What will be his average
speed ?

(1) 12.5 km/h

(2) 12.0 km/h

(3) 13.0km/h

(4) 11.5km/h

00
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T ATE 1 A1y former gad %8 g
& 98 W91 T 8

(1) wfem

(2) Sgh

(3) Ui HIEA

(4) AreF

foenfifai & wh wyg i sfwa S
67.45 39 § T 2 | fe 5w 100 ferenfifa
<hl SeITS o YUl S H T TR
AT £, T HH H1d HITAT |

Far | 60-62 | 63-65 | 66-68 | 69-71

72-74

(3 9)

fyenferai | 5 | 18 | £ | f, | 8

& gE -

The mean deviation of population is
minimum when it is measured from

(1) Median

(2) Mode

(3) Geometric mean

(4) Mean

Given the mean height of a group of
students is 67.45 inches. Find the
missing frequencies (f and f,) for the
following incomplete distribution of
height of 100 students.

Height in| 60-62 | 63-65 | 66-68

inches :

69-71|72-74

No. of 5 18 f, f 8
Students :

(1) f;=20,f,=49
@) £=27,5 =4
(3) f;=42,f,=27
(4) f,=49,f,=20

1 AR < T Y g HE 5 o
A ST R -

(1) =T e

(2) A ferrem

(3) fererem T

(4) 9fER

I q W ox Wy F A
2¢r -~ Sy = 10 & w afg x_, x
Wﬁﬁ%ﬁﬁ‘@,ﬁﬂ'{yﬁﬂﬁw
g 7

(1) 2.40

(2) 4.40

(3) 6.40

(4) TTOHT TE Bl TR |
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(1) £;=20,f,=49
@) £=27,f,=42
@) f,=42,1,=27

(4) £5=49,f,=20
The most appropriate measure to

compare the consistency of two series
(1) Standard deviation

(2) Mean deviation

(3) Coefticient of variation

(4) Range

Let the relationship between the two
variables x and y be given by 2x — 5y =
10 and if x . is the median of x is

known to be 16, then the median of y
will be

(1) 2.40
(2) 4.40
(3) 6.40
(4) cannot be calculated
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(4) P(AUC) + P(BUC)
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(1) 140/429
(2) 392/429
(3) 70/429

(4) 38 9 HE T

TS JETHR Wil e o fawm e %
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(2) 0
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The wages of 10 labourers in dollars
are :

82, 56, 90, 50, 120, 75, 75, 80, 130, 65

Then which of the following statement
is correct ?

(1) Mean=172.3
(2) Q,=60.75
(3) Dy =80.20
(4) Pg,=120.20

For any three events A, B & C,
P(A U B/C) is equal to

(1) P(A/C) + P(B/C)

(2) P(A/C)+ P(B/C) - P(ANB/C)
(3) 1-P(ANB/C)

(4) P(AUC) + P(BUC)

A committee of 7 members is to be
formed from a committee comprising
8 males and 5 ladies. What is the
probability that the committee would
comprise 2 ladies ?

(1) 140/429

(2) 392/429

(3) 70/429

(4) None of these

In normal distribution, all odd central

moments are
M1

(2) 0

(3) less than 1
(4) None of these

00
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If a random variable X ~x*(n)

independent  of  another random
variable Y ~ x%m), then X + Y

follows :

(1) %> distribution with m +n d.f.
@ Pyn distribution

& Buw distribution

(4) None of these

There are two urns. The first um
contains 3 red and 5 white balls
whereas the second urn contains 4 red
and 6 white balls. A ball is taken at
random from the first urn and is
transferred to the second urn. Now
another ball is selected at random from
the second urn. The probability that
the second ball would be red is

(1) 7/20

(2) 17/52

(3) 3/20

(4) 35/88

Find the probability mass function f(x)
for x for which mean and standard
deviation are 6 and 2 respectively :

(forx=0,1,2,....., 18)
(1) '8c, 23y (1/3)"*7*
@ 2c @By
3) 1scx(”3)18—x

@) '8C_(13y @3 *
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T i e aH A | g,
Hﬁaaqﬁﬁﬁszm%?ﬁwﬁmmm ;
yaﬁmgﬁ(%)%

(1) \—/S—;m |
i «F
= |

= & 5e e v worm =
o e AF ~ 10132
f(x) 4\/51 e | ]
Gi%?-oo<x<oo%%"’{xamm
ToTTeh /1 B
(1) 40 ,
(2) 50
(3) 60
4) 30
100
STETHTST S5 8T (- o0 < x < o0) R |
o el x - 10)%/32 ]
fix) 4@ e & afa il
IR farg % fore wea e 8 |
(1) TH6W f
(2) 9 14 W |
(3) 6T 142w f
(4) T6RUGTE 14T |
26

If S% is known in a simple random
sampling without replacement then

standard error (cry) of sample mean y

» =5
e
® 7\

@) N\/—

What is the co-efficient of variation of
x characterised by the following
probability density function

——L_ —(x-10232
i) N

T
for—w <x <o
(1) 40
(2) 50
3) 60
(4) 30

. The points of inflexion of the normal

curve for (- oo < x < o0)

L —(x-10/32
)= o

exists at ;

the true statement is
(1) onlyaté

(2) onlyat 14

(3) bothat 6 and 14
(4) Neither at 6 nor 14

00
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afg {t ) STheTE 1 g9 Wehr i Aot
3 5 R E(t) - 03V (1) >0
S n—-)oo?ﬁtn%;ﬂﬂ@

(1) HTd ATehereh O %

(2) 3TETA JATHEAH 0 1

(3) A=A TR O T

(4) To=1a 3rTeReTsh 6 1

i § & B @ uhem wfaes B

aq%zw%sqﬂm%gm%mw%?
(1) 2 e (2) e wde
(3) Prgudem  (4) T HE

A 0<0< 1%’ pp(X=-1)=
1-6 L.
L—zJ,PU(X=0)=5@Pe(X=1)=

2 wfeq X T A W E T

uq%ﬁuﬁas’iﬁzoméaﬁﬁ—l,oqé
1 <t i gt aw: 6,4 SRI0F |
0 1 FTRIeH THTSIAT ST &

(1) 1/5 (2) 4/5
(3) 5/8 (4) 1/4
ﬁm%ﬁaﬁﬁ@ﬁqwmw@%?

(1) Hﬂﬁmmaﬁ%aﬁw%
TR A R |

2) [ SR <t fe e R A R |

(3) H, %! IR HT Falleh T8 T
781 2, wlieor 1 wifh el ACIE |

(4) Hﬁﬁaﬁﬁaﬁnmaﬁ%aﬂm
2 e webTe < e HEAI # |

| 101. Let {t,} be a sequence of estimators

103.

104.

such that E(t,)) —> 6 and V (t,) > 0 as

n — o, thent isa

(1) consistent estimator of 6
(2) inconsistent estimator of 6
(3) unbiased estimator of 6

(4) biased estimator of ©

. Which of the following test used to

test randomness of a given sample ?

(1) %> test
(3) Sign test

(2) Median test
(4) Run test

Let X be a random variable with

0 1
Pe(x:-1)=£—2J,P0(x=0)=5

0
and Py (X=1)=7 for 0<0<l.Ina

sample of size 20, the
observed frequencies of -1, 0 and 1
are 6, 4 and 10 respectively. The
maximum likelihood estimate of 6 is

(1) 1/5 ) 4/5
(3) 5/8 4) 1/4

random

Which of following statement is not
true ?

(1) Accept H, when in fact it false is

type Il error.

Type 1 error is usually more
serious to occur.

Correct decision of rejecting Hy

(2)
3)

when it is false is called power of
the test.

(4) We may reject H, when it is false
is called type I error.



105.

106.

107.

ST % T L TR F & 200 7gerat

1 T wfied agfss Tl & R

T 57 15 Sroget sraee o |

() ¥ wg 4 Suql smeE) @
STITITh 3TTeher oy 8 9

(ii) wmﬁ%mmm
JATHTH FAT R 2

(1) 0.075,0.03

(2) 0.080, 0.02

(3) 0.075, 0.02
(4) 0.080,0.03

A T B wad gt & R R
P(AUB) = 1 — y @91 P(A) = x & w&f
x @1y, (0, 1) ¥ arefers @ §,
P(B)® -

(1)
@) l-x-y

1 —x
(3) y

1 —x—
@ T

l —x

TS wETRR w Gfe &)
FFER-TE T arEe gaEEr ),
Ih WE @ ARE A qeur g
SRR o fRmvit U et 6 o
ST 2, e iy foan o

(1) <Teehie urE~q

(2) =ifE et

(3) HehTEeR T U

4) o= F

_j 105. A random sample of 200 articles taken

i
|
4
i

106.

from a large batch of articles contains
I5 defective articles.

(i) What is the estimate of the
proportion of defective articles in
the entire batch ?

(i) What is the estimate of the sample
proportion of defective articles ?

(1) 0.075,0.03
(2) 0.080,0.02
(3) 0.075,0.02
(4) 0.080,0.03

A and B are independent events with
P(AUB) =1 — y and P(A) = x when x
and y are real numbers in (0, 1), then
P(B) is

(1) 1-x
(2) 1-x-y
1l —x

3) =
] e
="

- ‘Society is a system of usages, and

procedures, authority and mutual aid,
of many groupings and divisions, of
controls of human behaviour and of

liberties’, who defined ?
(1) Talcott Parsons

(2) Morris Ginsberg
(3) Maclver and Page
(4) C.H. Cooley

00
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zn wfifs % dee g & 7 o g %,

7z fopeent foam 2 2
(1) =Y.t FHT
2) T, °4H

(3) ITR.UH. HHEH
(4) sforre qun ufe

qrTe TRl I ITEE T W
Tg’ % w9 # fope anffepa fohar 2 2

(1) JTA. /e

(2) 3. T

(3) &g, Al T

(4) Fog aaX

frg fagm 3 Ry o g @
FrafRd § Sraurom — gftes wfadE,
wfeufy wftmm st sl sEen € 8 2
(1) fetoea

(2) HIEECS
(3) WA
(4) HepTgeR
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109.

110.

111.

112.

. Who is the author of the book ‘Human

Society’ ?

(1) Talcott Parsons
(2) Kingsley Davis
(3) Maclver and Page
(4) E.S.Bogardus

Who has given the concepts of
‘Gemeinschaft’ and ‘Gesellschaft’ ?
(1) Lester Ward

(2) Karl Marx

(3) T.B.Bottomore

(4) F.Tonnies

“We belong to Association but not to
Institution’, who said this ?

(1) W.G. Sumner
(2) A.W.Green

(3) R.M. Maclver
(4) Elliott and Merrill

Who has classified social groups as
‘In-group’ and ‘out-group’ ?

(1) R.M. Morton

(2) R.K. Merton

(3) W.G. Sumner

(4) Max Weber

Who has given the three concepts of
Status & Role — Role set, Status set
and Status sequence ?

(1) Linton

(2) Fairchild

(3) Merton

(4) Maclver



13, "aer wger Frefofes 3 3 frey |
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(1) T 39y !
(2) T ITTTY f
(3) HHf Tl a=y |
4) éamm%%uﬁrw%

114. ¥R WHR g1 ooy féam sffram =g
e foa a7 |

(1) 26 3T, 2006
(2) 15 30T, 2005

(3) 26 S, 2005
(4) 2 3=, 2004

115, Fefefen & @ frey sritfem Rt |
% JTET I Te WE Y EE 2
(1) #.w8. srereet
(2) fasspel 4
(3) HifceTd quT Feey
(4) TEd S+, g

|
116. 7% % & & &1 9qem %1 sravae T !!
TR ? ;

(1) ¥ifee & |

(2) TR W ,’

(3) SHeH T T Ty j

(4) =afaara sfy f

114.

115.

116.

. “Borstal School” is associated with

which one of the following ?

(1) White Collar Crime

(2) Juvenile Delinquency

(3) Mentally Retarded Children

(4) Training Centre for Jail Authority

Domestic Violence Act was brought
into force by the Indian Government

on
(1) October 26, 2006
(2) August 15, 2005
(3) January 26, 2005
(4) October 2, 2004

Who amongst the following explained
Reference Group through the study of

American Soldiers ?

(I) C.S. Alexander

(2) Vilfredo Pareto

(3) Collins and Randalls
(4) Robert K. Merton

Which of the following is not an

essential element of a community ?
(1) Locality

(2) Community sentiment

(3) Common way of life

(4) Individual interest

00
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frfafea @ @ o8 @ wra 3§ S
I o ToTT SU=IRIcHe 3919 81 8 2
(1) iy ferpra =1 srgran & |

(2) WA FEYA] I ST FAT |

(3) o ferepra =) wera & |

(4) terforss gum |

Ty g fafie w9 4 s Oy
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(1) e
(2) wefan
(3) Hrom
(4) fowrs
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(3) s

(4) WIS
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(1) oy

(2) @&am

(3) wfereqet
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|
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117. Which of the following is not a

118.

119.

120.

remedial measure to  eradicate

unemployment in India ?
(D

Promoting agricultural
development.

()
3)

Improper use of human resource.

Promoting economic
development.

Educational reforms.

4

Which is the only tribe from Rajasthan

to be included in Particularly
Vulnerable Tribe (PGT) ?

(1) Bhils

(2) Sahariyas

(3) Meenas

(4) Bishonois

AIDS is caused by
(1) Bacteria

(2) Fungi

(3) Virus

(4) Protozoa

The process wherein two or more
persons work together to gain a

common end is called
(1) Conflict

(2) Co-operation
(3) Competition

(4) Assimilation
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121,

122,

123.

124,

125.

In which book has Cooley introduced
the term primary group ?

(I) The Small Group
(2) Collective Behaviour
(3) Sociology

(4) Social Organization

Religion, Family, Caste, Marriage are
examples of

(1) Social Conflict
(2) Social Norms
(3) Social Values
(4) Social Institutions

Which one of the following is not an
ascribed status ?

(1) Age
(3) Education

(2) Sex
_(4) Kinship

Every person in society occupies a
number of status. Different status
associated with a single person are
known as

(1) Status inconsistency

(2) Status succession

(3) Status set

(4) Status sequences

Which of the following Sociologist has
proposed the concept of ‘Direct’ and
‘Indirect’ Conflict 2

(1) Gillin & Gillin

(2) Maclver & Page

(3) Karl Marx

(4) Kingsley Davis

00
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127.

128.

129.

130.

Which type of poverty refers to a lack
of basic resources needed to maintain
health and bodily functioning ?

(1) Absolute poverty

(2) Culture of poverty

(3) Situational poverty

(4) Relative poverty

The type of unemployment seen in
India’s agriculture sector is

(1) Semi-unemployment
(2) Voluntary-unemployment
(3) Frictional-unemployment

(4) Seasonal-unemployment

Nepotism, favouritism and misuse of
powers are all examples of

(1) Ignorance

(2) Corruption

(3) Conflict

(4) Social solidarity

The term ‘Black Money’ is related to
(1) Poverty

(2) Communalism

(3) Corruption

(4) Beggary

Who has written the book ‘Unravelling
Juvenile Delinquency” ?

(1) D.R. Cressey

(2) Sheldon Glueck, Eleanor Glueck
(3) W.H. Sheldon

(4) J.B.Corte
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131.

132,

133.

134.

135.

Which of the following tribe is not
found in Rajasthan ?

(1) Bhil
(3) Garo

(2) Meena
(4) Sahariya

Find the missing numbers of the
sequence :

20,20, 19,16, 17,13, 14, 11, 2 , 2
(1) 10,10 ) 10,11
3) 13,14 (4) 13,16

In a certain code, ‘ROAD’ is written
as ‘URDG’; how ‘SWAN’ will be
written in this code ?

(1) VYDQ
(2) VZDQ
(3) WZDQ
(4) VZDR

Choose Odd man out.
(1) GMANO
(2) JSAIMNZ
(3) RANOEG
(4) AABANN

Mahesh is looking for his friend
Dinesh. Mahesh went 90 m in the East
and turned to his right lane and walked
20 m. Again he took a right lane and
walked 30 m. Here again he turned to
a right lane and walked for 100 m and
found Dinesh. How far is Mahesh
from his starting point ?

(1) 80m (2) 100 m
(3) 110m (4) 90m

00
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e wlien ¥ W w1 U e H wEd
9 & eival @ 98 FW Y qEEl
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femefi g 7
(1) 34
(3) 32

(2) 33
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1000 =afRat W f&=ft, i T w&pd
F 99 5 gaeror 1 gfom Y § 54 39
3TTORE I eIt T 2 | A ATt 6
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10 289| * 13
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(1) 625
2) 313
3) 1

(4) 900

136.

137.

138.

In an examination Pradeep ranks
twenty sixth from bottom and seventh
from the top in his class. The number
of students in his class is

(1) 34 (2) 33
(3) 32 4) 31

A result of survey of 1000 persons
with respect to their knowledge of
Hindi, English and Sanskrit is given by
this Venn diagram. What is the ratio of
those who know all the three
languages to those who do not know

T
JATA

N,

Sanskrit

English Hindi

(1) 10/31
(2) 10/59
(3) 1/9

4) 527

Find the missing number.

3
2 /5
89
10 )
7

15

44N\ 0
)
13
2%
(1) 625

) 313

3) 1
(4) 900
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| 140.

139. Read the statements followed by the

conclusions I and II. Give your answer

accordingly.
Statements : 1. All forces are
energies.
2. All energies are

powers.
3. No power is heat.

Conclusion I : Some forces are not

power.,

IT: All heat are forces.
(1) Only Conclusion I follows.
(2) Only Conclusion II follows.

(3) Neither
follows.

conclusion 1 nor II

(4) Both conclusions I and II follow.

Read the statement followed by two
assumptions I and II and give the
answer.

Statement : “Please drop this letter
in the letter box.” An

officer tells his assistant.

: The assistant knows
the address where
the letter is to be
drop.

Assumptions I

II : The assistant would
follow the

instructions.
(1) Only assumption I is implicit.
(2)

3)

Only assumption II is implicit.
Neither assumption I nor II is
implicit. -
Both assumptions 1 and II are
implicit.

4)

00
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(1) BISN

(2) CI8M
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(4) CI18N
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141.

142.

143.

P, Q, R, S are to be seated in a row.
But R and S cannot sit together. Also,
Q cannot sit at third place. Then which
of the following must be false ?

1 2 3 -
(1) P issitting at first place.

(2) P is sitting at second place.
(3) P is sitting at third place.
(4) P is sitting at fourth place.

Find the next term of the letter-number
series :

N5V, K7T, HI0R, E14P, 2
(1) BI9N
(2) CI8M
(3) BI9M
(4) CI8N

A statement and four arguments are
given below. You have to decide
which of the arguments is/are strong.
Statement : Should children be
completely banned from
watching television ?
Assumptions I : No, we get vital
information
regarding education
through television.
I : Yes, it hampers the
study of children.

Il : Yes, all young
children are
misguided by
certain programmes
featuring sex and
violence.

IV : No, this is the only

way to educate the
MasseEs.

(1) Only Iis strong.

(2) Only I and III are strong.

(3) Only I, Il and IV are strong.

(4) Only I and IV are strong.
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145.

146.

Find the total number of rectangles in
the following figure :

(1) 16
2) 17
(3) 18
4) 20

Three dice are given below. All dice
have even number of dots on their
bottom faces. What would be the total
number of dots on the top faces of all
dice, if sum of the numbers of dots on
the opposite faces is 7 always ?

Sete

3) 14
(4) 21

If ‘GOLD’ is coded as ‘HOME”,
‘COME?’ is coded as ‘DONE’
and ‘CORD’ is coded as ‘DOSE”’,

how would you code ‘SONS’ ?
(I) TPOT
(3) TOOT

(2) TOOS
(4) TONT

00
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(1) Fael frepd | a0 S g |

%YA :

(2) et frewd 11 TR0 HTET R |

(3) =1 @t s 1 & 11 SrERe Hl
2

(4) ST e | qT 11 STFET HLd R |

fore 3R 1 ot i
4,8,28, 80,244,728, 2_
(1) 2180

(2) 2184

(3) 2188

4) 2192

; 147. Choose the word which is least like the

o I it ey
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148.

149.

other words in the group.
(1) Blue
(2) Green
(3) White

(4) Yellow

Read the statements followed by two
conclusions I and II and give the
answer. '
Some
figures. _
2. All  symbols are
graphics. _?
3. No graphic is a
picture.

Statements 1. symbols are

Conclusion I. Some graphics

figure.

II. All  symbols
pictures.

Only conclusion I follows.

are

are

M
(2)
(3)

Only conclusion 1I follows.

Neither
follows.

conclusion 1 nor I

Both conclusions 1 and 11 are
follows.

4

Complete the following sequence :
4,8,28,80,244,728, 7

(1) 2180

(2) 2184

(3) 2188

4) 2192



150. T 34 u4 mepfa feehl wess e
8 1.7, 2 o wem fyadia area @t @,
It Td A TG T OA R | A 39
3 &1 2 8., & Tl aret st B
121 A1 B | & 1d Hife 6 fra w=
U B s T o ared O 8@t 7

150. A solid cube of each side 8 cms, has
been painted red, blue and black on
pairs of opposite faces. It is then cut
into cubical blocks of each side 2 cms.
Then how many cubes have only two

faces painted ?

i
|
|
!
|
i
|
!
|
|
- !
SEINNNNNIN |
N N :
\\\\\\ g
\\\ \\\ |
NONNONANNN i
(1) 48 i (1) 48
(2) 16 ! (2) 16
(3) 20 | % (3) 20 -
(4) 24 @
!
|
151. 9 91 fo o fopat o it & ? j 151. Count the number of cubes in this
; figure.
i
?
|
|
!
|
|
| | |
(1) 9 | (1) 9
() 10 ] 2) 10
(3) 11 | (3) 11
@) 12 | (4) 12

(m ] 40 00



152.

153.

154.

155.

00

il ) sare genfadt & e %
fou HAIE HU-13 B A FEl
g 7

(1) TSpIe

(2) MR

(3) ST

(4) g

668 Tgm frew YR § HEUE
ToreT frew %1 quehn fohd feew
forem 2

(1) S&R

(2) 3R

(3) &

(4) AT

g fen Aifq, 2020 % siaia q=d
FaTuA ot TATed 1 AH SEeTeR W
fean 2

(1) T Farerm

2) Toen 3R @@ v

(3) " faehma Taed

(4) Hférer TETYA FHCE

\TE <1 RIF o1 TSYTHT I8 2019 § TH
reen! fare LR Soret & T R 7

(1) dE@1S

(2) foEaags

(3) SR

(4) w9

o ——— T i T it T 1
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152.

153.

154.

155.

Where was the convention COP-13
organized for the conservation of
migratory species of wildlife ?

(1) Rajkot

(2) Gandhinagar

(3) Jaipur

(4) Jodhpur

Which film won the Best Rajasthani
Film Award at the 66" National Film
Awards ?

(1) Darbar

(2) Dor

(3) Turtle

(4) Gulal

Under the National Education Policy
2020, the name of Ministry of Human

Resource Development has been

changed to

(1) Ministry of Education

(2) Ministry of Education and Sports

(3) Ministry of Human Development

(4) Ministry of Educational
Resources

Which capital city in India has become a
UNESCO World Heritage site in 2019 ?

(1) Lucknow

(2) Thiruvananthapuram
(3) Jaipur

(4) Bhopal



156.

157.

158.

159.

fava defen AftmaRn § @l ey | 156.

et waeh et Ak w7 ;
(1) . Ry
(2) Y Tom
(3) 319vri qiae
(4) @TET TEaT

ST 2020 H A 99 @6 |y A | 157,

% T Y T 2 |
(1) uuTet et |

(2) goi e |
(3) WY FAR rsft
(4) WG uU =19

TSre™ | Sifgeg-19 HEm & Hror | 138,
RESIRURIICEC Rl
(1) 219/ & 30 "= 2020 |
(2) 229/ ¥ 31 9719 2020
(3) 209 ¥ 31 | 2020
(4) 2599 9 31 |7 2020

WIE % I AEeE % 474 qe | 189

AT % w9 F fhad ey ot 7
(1) Sfw v wnft

(2) wfE T Mg

(3) vifew ., T

(4) wfeeq e e

S B A Sk i T St e . o Y S e
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Who has become the first Indian
Female to win gold in the Badminton
World Championship ?

(1) P.V.Sindhu |
(2) Ashwini Ponnappa
(3) Aparna Popat
(4) Saina Nehwal

Who has become the new Chairman of
Union Public Service Commission in
August 2020 ?

(1) Dharm Pal Jaroli
(2) Pushpendra Joshi
(3) Pradeep Kumar Joshi
(4) Bharat Bhushan Vyas

First complete lockdown due to
COVID-19 pandemic in Rajasthan was
from '

(1) 21 March to 30 March 2020
(2) 22 March to 31 March 2020
(3) 20 March to 31 March 2020
(4) 25 March to 31 March 2020

Who was sworn in as the 47" Chief

Justice of the Supreme Court of India ?
(1) Justice Ajay Rastogi

(2) Justice Ranjan Gogoi

(3) Justice S.A. Bobde

(4) Justice Ajay Lamba



160, HIYT gTS 37T, e W TA # H g | 160. In a recent plane crash at the Karipur

g ggjz:n ¥ T TS IS T AT o1 Airport in Kerala, the name of the pilot
was

(1) ofege i (1) Akhil Sharma

(2) Fome T (2) Kunal Rathi

(3) AT (3) Arjun Rao

(4) G ft. |13 (4) Deepak V. Sathe

161. a:gwm-z.%ﬁatwqmwm ? 161. What was the name of the rover of

(1) A Chandrayaan-2 ?
@) =iy firm (1) Pragyan
3) fFm (2) Vyommitra
@) i (3) Vikram

(4) Orbiter

162. TS TR % W & id STkl 162. The World Economic Forum has

¥ v o Ag % g Tog SHHILS announced to honour which Indian for
Frg % frw s w1 2020 TR her leadership in raising mental health
ERT & FEATIE A ) SISO @ 7 awareness, with 2020 Crystal Award ?
(1 ?ﬂﬁ'ﬂm@ﬁm (1) Deepika Padukone

(2) e St (2) Madhuri Dixit

(3) ATeran Wg (3) Alia Bhatt

(4) fean Tt (4) Diya Mirza

163. FpE 29 Y Bt & ¥ ‘3 16° & | 163. Which country has recently launched

forrat s @ feea 2 7

|
|
|
!
i
!
|
i
i
i
)
!
!
'?
|
|
|
|
|
!
i
|
|
|
i
!
!
l
i
|
!
i
i ‘Ofek 16 spy satellite ?

(1) % | (1) France
(2) St | (2) Germany
3) =™ ! (3) China
(4) TR { (4) Israel

00 43 a



164. 74 2020 # Wt & FENf @WfE | 164. Padma Shri Awardee in 2020, the

165.

166.

167.

SRl feaTan T Wi ToeeE % e
frad e
(1) bR
(3) Hr

(2) TR
(4) T

-t 8 @ wfafia “aes 1 wuefie 1w
S S 1 o7 femmn @ 7

(1) Tt TS

(2) §9393E

3) gefien =g

4) P gum

S 2020 H TR HTHT I 1S Wl |
AT & Tehed % WY TH IS TRAY
® 1 9 A ) A R g g
(1) Tge @I A

(2) Ui w1 A

(3) sf=u T dsmn

(4) TR TE drT

JaRer T = I I gEras
T AW T k-3 St %
MW W @ I g & A digon Y
IEF AN R ?

(1) =0 fyeaa

() frme

(3) =&

(4) A0 s, Saw

F -3
sy

|
E
|
i
|
i
j 165.
i
|
?
|
i
!
i
-166.

167.

social worker Himmata Ram Bhambhu
is from which district of Rajasthan ?
(1) Bikaner (2) Nagaur

(3) Sikar (4) Jhunjhunu

Which Indian player has become the
first ever hockey player to be awarded
the Prestigious World Games Athlete
of the year ? _

(1) Rani Rampal

(2) Deep Grace Ekka

(3) Sushila Chanu

(4) Nikki Pradhan

The Government of Rajasthan has
announced a scheme with the
commitment that no one sleep hungry,
in June 2020. What is the name given
to the scheme ?

(1) Rahul Rasoi Yojana
(2) Rajiv Rasoi Yojana
(3) Indira Rasoi Yojana
(4) Jawahar Rasoi Yojana

The space agency NASA has recently
declared to rename its headquarters
after an African-American engineer.

What is his/her name ?
(1) Marry Davidson
(2) Micheal Dey

(3) Martin Moore

(4) Mary W. Jackson



el o e e o s

169.

170.

171.

7 € & IR oreh Tfae ¥ o
T feefre o “ya” et frm 2 7
(1) 31é o & feeef

(2) 3% TS A A

(3) Mg A3 & FEAR

(4) 31E arE & W

T @ g § W@ % %Y few

stfirg et a3 for Tl v e

%7

(1) sy ATAfEI
(2) TRETE @
(3) Rmms T Ee
(4) peare fava w1

m%mwﬁzozoﬁwm
are ¥ gotad e R 1 e
gy frg e as ?

(1) e
(2). | HTE
(3) IR 3R I
(4) foen

& & H, 8 I, 2020 H QW A
“YRA BIg! Qe Sl HA H aule
TS TS 7
(1) 62&
(3) 78di

(2) 744
(4) 82

i
!
i
'
E
|
i
!
5
|
i
|
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168.

: 169.

170.

171,

The students and researchers of which
institute have developed a receiver
chip for Navigation System NAVIC,
“Dhruva”, recently ?

(1) IIT Delhi

(2) IIT Bombay
(3) IIT Kanpur
(4) IIT Madras

“FeiFei” which was in news recently is
the Mascot released for which famous
sports event ?

(1) Summer Olympics

(2) Asian Games

(3) Asian Para Games

(4) Football World Cup

Sundaram Verma of Rajasthan has
been honoured with Padma Shri
Award in 2020. He is associated with
which field ?

(1) Art

(2) Social work

(3) Trade and Industry

(4) Education
Which anniversary of Quit India
Movement has been celebrated across

the country recently on 8" August,
2020 ?

(1) 62"
(3) 78111

(2) 74"
(4) 82nd



172. T & = 4 3 frg 1 =) =iy | 172. Which one of the following towns of
Aial ¥ ST & T Y AT AR 7 .Rajasthan  is  also known as

1) T E ;?)ha]r:pavati’ in ancient sources ?
agor
2) =Y, | (2) Chaksu
(3) STRTIg ! (3) Jahajpur
(4) ¥ é (4) Bairath
173, Fresfefia 3 & @1 0 TS | 173, Which one of the following is a
AR ? ] chalcolithic site ?
(1) refam | ' [ Kelibangas
(2) ES ! (2) Ahar
3) foefarer g (3) Tilwara
(4) wHIA ; (4) Jasol
174. -1 =1 F=h-11 & gifea it it g 174, Mateh List-1 with List-1I and select the
= R M %2 1 s = a9 I i correct answer by: using the codes.
BT I FI [ given below the lists.
-1 g=-11 | List-1 List-11
A. 32 3cEd 1. 61?:“3(( A. Camel Festival 1. Barmer
B. @fisma 2. iR | B. Elephant Festival 2. Bikaner
C. W& 3. S | C. Desert Festival (mela) 3. Jaipur
D. YRHEIMd 4. g I D. Thar Mahotsav 4, Jaisalmer
kT Code :
A B C D A B C D
M 2 3 4 M 2 3 4 1
@ 4 3 1 2 2 4 3 1 2
G4 2 1 3 G 4 2 1 3
@2 3 1 4 2 3 1 4

175. ARETS % 39 WEH H1 AW Ty, i
T dIGUTE FEAR gRl 1621 3.
‘TAYR Y ITIf A 7S |
(1) =& T g wew
(2) WERTT Fa fig
(3) WER SHa g wem
(4) wERN S99 &g fedig

175. Name the Marwar ruler, who was
conferred the title ‘Dalthambhan’ by
Mughal Emperor Jahangir in 1621 A.D, ?

(1) Mabharaja Gaj Singh 1

(2) Maharaja Hanwant Singh
(3) Maharaja Jaswant Singh I
(4) Maharaja Jaswant Singh II

[» ]
ES
3



176.

177,

|78,

179.

180.

o 3 @ Rpw w W werd SERIE g0 | 176. In which of the following place
m Erakccirkic i ol'aserv:tory was not built by Sawai Jai
(1), Ko (S;;gllj)t;lhli
(2) 799 (2) Mathura
I8 | (3) Ujjain
(4) Tfermt | ! (4) Gwalior
I W1 1 AW ATy R wew @l | 177. Name the institution, which was
qTE, qLEdt 4 IEAR 4 foran o, |fem founded by Swami Dayananf:l
FTATR 1 T8 T TR FA T | Saraswlati in U(‘Tlaipur but later on, it
was shifted to Ajmer ?
() mf mi : (1) Arya Samaj
(2) '&NT (2) Paropkarini Sabha
(3) W Fe Ty | (3) Samaj Sewa Sangh
(4) SR EE | (4) Ved Samaj
‘O TORAT AEnYE R d@meT A 178. From which organisation the ‘Tarun
Eg ?IT ? | Rajasthan’ newspaper was associated ?
(1) TRIYA™T 7€ WA 891 (1) Rajputana Madhya Bharat Sabha
(2) T A1 69 (2) Rajasthan Sewa Sangh
(3) &R WRa | (3) Veer Bharat Sabha
(4) waTE gy i | (4) Marwar Youth League
“RETE H TAHE TEA" AR TR 179. Who wrote the book ‘Mewar Ka
forem ot 2 Vartman Shasan’ ?
(1) 9% T AR (1) Chand Karan Sharda
(2)  foem IR ; (2) Har Bilas Sharda
(3) R g ! (3) Master Adityendra
(4) Wi ST i ; (4) Manikyalal Verma
39 YTHSH HT THCHE ﬁﬁl{, et I 180. Name the Prajamandal that was
TITOAT NUTOH Y qY1 A E @Rt | established by Magharam Vaidya and
HTE | l Lakshman Das Swami ?
ZR)T ﬁ;fﬁ-{m | (1) Bikaner Prajamandal
() \ﬁagtma I | (2) Dhaulpur Prajamandal
(3) wieh wamiEs | (3) Karoli Prajamandal
(4) AT TATHSH | - (4) Alwar Prajamandal
47
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